ELEG403 COMMUNICATIONS SYSTEMS ENGINEERING

ASSIGNMENT #2 due Monday Septemnber 22

1. Adelay line and integrating circuit as shown below are one example of a *holding
circuit” that was commenly used in radar work, samplad-data servo systems, and
pulze-modulation syastems.

a) Tracing through the circuit step-by-step, datermine the transfer function Hif) =
PR
b} Let vit) be a ractangular pulsa of width © seconds. determine the output v it}

ey delay line | - armpifier .
wit) e T ‘:(?_. aain =1/ integraton—e v, (t)

2. Using the supemposition {linearity) and time-shift theerems for Fouriar tranaforms, find
the tranaform of the signal shown below. The width of each of the rectangies is 1.
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3. Given the energy signal. kt}=e='uit), o=, compute the Fourter transfom of the
following expresslon {* denotes convolution)

wi{th = Poft-igh + [R) x(t) + B{t4,).
4. Haykin Prohism P2.3 %7
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“Then,

L M= 2aq@)+ AqE-zT)+ AqkizT)
X = TLA] 3
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R V= X} sa=l = Q-5

@ 3.&1 Ag.4) = Q g(sH)
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Fa W)= X0}, Sa=1 = (=15
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J = Agal) = 4 (st
M8 % L x(Hs)

Be V=X, =1 = g5




